
MODEL QUESTIONS - SOCIAL-CIVICS X-CLASS

169

4 Marks Questions (4 eÖsÁTØ\ ç|�Xø�\T)

1. “Caste has still not disappeared from contemporary India”. Give any three examples

to Justify the statement.
»»esÁïeÖq uó²sÁÔá<ûXø+ýË Hû{ì¿¡ Å£�\e«ed�� n+Ôá]+º bþýñ<�Tµµ @yîÕH� eTÖ&�T �<�V�²sÁD\ÔÃ

ú n_óçbÍjáTeTTqT e«¿£ï|�sÁT#áTeTT.

2. Explain the various forms that communalism can take in politics?
s�È¿¡jáÖ\ýË eTÔáÔáÔáïÇ+ jîTT¿£Ø $$<ó� sÁÖbÍ\qT $e]+#á+&�?

3. How does caste affect politics in India?
uó²sÁÔá<ûXø s�È¿¡jáÖ\ýË »Å£�\+µ mý²+{ì ç|�uó²e+ #áÖ|¾d�Tï+~?

4. What is secularism?  Why is it necessary to have secularism in India?
»ý�¿ì¿£ÔáÔáÇ+µ nq>±Hû$T? eTq<ûXæ�¿ì »ý�¿ì¿£ÔáÔáÇ+µ m+<�TÅ£� ned�sÁ+?

2 Marks Questions (2 eÖsÁTØ\ ç|�Xø�\T)

1. a. Define urbanisation.
  |�³¼D¡¿£sÁD >·T]+º �sÁÇº+#áTeTT.

b. What do know about apartheid?
   esÁ�$e¿£� >·T]+º ú¹¿$T Ôî\Td�T?

2. What is meant by communalism?
eTÔáÔáÔáÇ+ nq>±Hû$T?

3. State how caste inequalities are still continuing in India?
»»uó²sÁÔá<ûXø+ýË Hû{ì¿ì Å£�\ nd�eÖqÔá\T ¿=qkÍ>·TÔáTH��sTTµµ MT n_óçbÍjáÖ�� e«¿£ï|�sÁ#á+&�?

4. Mention any two constitutional provisions that make India a secular state?
uó²sÁÔá<ûXæ�� ý�¿ì¿£ s�È«+>± n_óe]�+#á{²�¿ì s�C²«+>·+ýË >·\ Âs+&�T ��+<ó�q\T Ôî\T|�ÚeTT?

3. Gebder, Religion and Caste
*+>·+, eTÔá+ eT]jáTT Å£�\+
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